These answer keys refer to the audio file 001_TOEIC_partl.mp3

Autobahn

(A) Traffic is building up on the motorway.

(B) There are more lorries on this motorway than cars.

(C) Traffic is flowing freely on the motorway.

(D) The vehicles are travelling too close to one another on the motorway.
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These answer keys refer to the audio file 002_TOEIC_partl.mp3

The bund Shanghai

(A) There are more craft on the water than there are cars on the road.
(B) This photo shows us a busy rush hour scene.

(C) Most of the buildings in the picture are typical domestic residences.
(D) There is no evidence of any people walking in the photo.
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